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'(6) The spin state at time t � 0 is written as I心(t)〉=C午(t)e+iwot/2 甘�〉＋ c↓(t)e ―iwot/2 [↓〉.

Find the differential equations satisfied by C↑(t) and C↓(t). For simplicity of computa­

tion, you may neglect the term including the high frequency components, e土i (w+wo) t _

(7) Expand the coefficients in Question (6) as C↑↓(t) = C図（t) +入c+t) (t) + · · · with respect

to 入． By comparing the powers of入 appearing on both sides of the differential equations,

find the differential equation satisfied by C四(t) and C四(t).

(8) By using the first-order perturbative approximation, find the probability of observing a

state with spin angular momentum Sz = +n/2 at time t � 0.

(END) 
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